Round 1 Tossups

1. This politician's wife served as governor of his home state from 1967-1971 while he was ineligible to run for a third consecutive term in office, and in 1963 he defied a court order and prevented access to the University of Alabama to black students. FTP, name this politician who was shot while seeking the 1972 Democratic nomination for president, four years after serving as the candidate of the American Independent Party.

Answer: George Wallace
2. This nation contains the only known habitat of the mud weasel.  Its alphabet has no consonants, and workers in its factories are forced to wear huge clamps on their heads.  Its people recently tripled their gross national product after they started a war by launching a satellite onto the French embassy.  For 10 points – identify this nation known for its technological ineptitude in the comic strip Dilbert.

Answer:  Elbonia
3. The verifier subsystem is a theorem prover that ensures that there are no stack overflows and no illegal values for variables. The class loader retrieves and loads bytecodes, which are run in a sandboxed environment to prevent security breaches. This is a quick overview of how what widely deployed system from Sun Microsystems works, in which applets can be created? 

Answer: Java
4. Richard Nixon's secretary, Rosemary Woods, became famous during the Watergate hearings and may have helped obstruct justice by tampering with Oval Office tapes.  FTP, name the secretary of Bill Clinton, who seems to have played a similar role by collecting and hiding gifts from the President to Monica Lewinsky.

Answer: Bettie Currie
5. It can be divided into The Book of Signs and The Book of Glory. The Book of Signs highlights seven signs, or miracles, while the Book of Glory contains the Last Supper, Passion and resurrection of Jesus. For ten points, name this non-synoptic and fourth gospel.

ANSWER: John
6. When asked to fix a version of Thomas Newcomen's invention, it occurred to him that the jet of cold water required for cooling cooled the entire cylinder, making it less efficient for the next stage of the cycle. Myth has it that while in Glasgow, he was watching a steam kettle boil one day, and noticed the force of steam lifting the lid, and from this was able to create his invention.  For ten points, name this Scot who created the improved steam engine, for whom the SI unit of power is named. 

Answer: James Watt
7. It was Sherwood Anderson who gave him a letter of introduction to Gertrude Stein, who was living in Paris.  It was Miss Stein who mentioned a garage keeper's comment, "You are all a lost generation," which he made famous as an epigraph to his first major novel, The Sun Also Rises.  FTP, name this Nobel Prize winning author of For Whom the Bell Tolls and The Old Man and the Sea.

Answer: Ernest Hemingway
8. Algae that grow on their hair give them a greenish color for camoflague.  They live in tropical forests, where they sleep, eat, and travel through the trees suspended upside down, clinging to branches with powerful forelimbs and hindlimbs.  They are arboreal mammals found in Central and South America. FTP, what are these creatures, proverbially known for their slowness, who share their name with one of the seven deadly sins? 

Answer: Sloth
9. It was originally a medieval fortress, built in 1200 under Philip Augustus.  A few centuries later, Catherine de' Medici commissioned two architects to construct today’s "Small Gallery" and "Great Gallery."  The Central Museum of the Arts was set up by decree in 1793.  FTP, what is this famous French art museum that holds the Mona Lisa? 

Answer: Louvre
10. Born in Mexico in 1829, this leader became a Christian late in life, and took part in Theodore Roosevelt's inauguration parade. This was a drastic change from his youth, when, after the massacre of his family by Mexican soldiers, he led numerous raiding parties in Mexico and Arizona, and forcibly resisted the internment of his people on reservations until finally surrendering in 1886. FTP, name this best known of the Apaches.

Answer: Geronimo Goyathlay

11. Anatol Kuragin is but one of the over 500 characters in this novel. Set against the backdrop of Napoleon’s 1812 invasion of Russia, it focuses on the relationships between Pierre Bezukov, Prince Bolkonsky, and Natasha Rostova. FTP, name this masterpiece by Leo Tolstoy.

Answer: War and Peace (or Voina i mir)

12. It comes from a French word meaning "to wind into a ball."   You've probably seen one before--whenever bicyclists race, they travel in a pack in order to decrease the wind resistance.  FTP, what is this French word that refers to a pack of riders.

Answer: peloton
13. This theory is inaccurate because it overlooks two factors:  the finite volume of the particles involved, and the attractive forces between them.  The variation from predicted results is most severe at high pressures and low temperatures.  The theory was derived by combining Charles', Gay-Lussac's and Boyle's Laws with the assumption that volume is directly proportional to the number of moles in a substance.  For 10 points – identify this now modified theory of gas behaviour represented by the equation PV = nRT.

Answer:  ideal gas law

14. Taking place in an imaginary land, this singspiel, an opera with spoken dialogue between musical pieces, opens with a serpent chasing Prince Tamino, who is saved by three attendants of the Queen of Night.  FTP, what is this opera about Tamino and Papigeno the bird-catcher's search for Pamina, one of Mozart's greatest works, featuring in its title the name of a musical instrument?

Answer: The Magic Flute (Die Zauberflöte)

15. It is believed he lived near Lejre on the island of Zealand, where ruins of great fifth-century halls have been found. He had been cast out by God as a relative of Cain, and had lived in a Danish fen until he died of injuries sustained when his arm was torn off.  For 10 points – identify this monster that terrorized the halls of Heorot until he was slain by Beowulf.


Answer: Grendel
16. It was actually won on the Fields of Eton, according to Wellington, but it’s doubtful it would have been won at all if not for Marshal Blücher’s timely arrival with the Prussian forces.  FTP, name this June 18, 1815 battle, Napoleon’s last defeat.

Answer:  Waterloo
17. According to Einstein, it moves faster than the speed of light. Its density is higher than that of the universe before the Big Bang and it has less electrical charge than a neutrino.  FTP, name this abstraction which was first philosophized to exist back in ancient times.

ANSWER: _nothing_

18. It is the tale of a duke who has been overthrown and banished to an island where he rules with magical powers. When the men who overthrew him pass near the island, he raises a storm, wrecking their ship and casting them ashore.  FTP, what is this play, one of the last of Shakespeare's, that tells of Miranda and her father Prospero? 

Answer: The Tempest
19. It was planned by the American architect Walter Burley Griffin. It is the seat of the Duntroon Royal Military College, Mount Stromlo Observatory, and the Australian National University. FTP, what is this city that in 1913 was selected to become the second capital of the commonwealth, succeeding Melbourne? 

Answer: Canberra
20. For Germany and the Netherlands, it was adopted in 1698. For Russia, in 1918. For Greece, in 1923. For England and her colonies, on September 2, 1752. On these dates, each of these countries adopted a new system, created in 1582 to replace a system that had been in place since 45 BCE during Julius Caesar's time. FTP, what is this time-keeping system, the formal name of the modern calendar named for the Pope that devised it? 

Answer: Gregorian Calendar

R.
According to the legend, he was a mighty hunter who also had woman trouble.  If he wasn't going after the Pleiades, he was pursuing Artemis.  The latter was a big mistake, as he was killed by a venomous sting in revenge.  However, an archer then turned around and killed the scorpion, which explains the relative locations of their constellations.  For ten points, name this, everybody's favorite stellar warrior guy, also a constellation with two first-magnitude stars, Rigel and Betelgeuse

Answer: Orion
Round 1 Bonuses

1. 30-20-10-5, name the objects.

30: Types of these objects include Kerr, Reissner-Nordstrom, and Schwartzchild.

20: They form when the radii of objects drop below the Schwartzchild radius, and have a misleading name because they can emit Hawking radiation. The best candidate for one is Cygnus X-1.

10: Their surfaces are called event horizons, and objects inside them will collapse to singularities.

5: They are objects with such strong gravitational fields that their escape velocities are greater than the speed of light.

Answer: black holes
2. Identify these products of everyone's favorite software monopolist, Microsoft, for 10 points each.

A. This is Microsoft's spreadsheet program, which also includes a built-in flight simulator as an Easter egg.

Answer:
Excel
B. This Microsoft program actually lives up to its name, because it is based on purchased products rather than Microsoft's own. It includes a simple word processor, spreadsheet, and database, as well as an extremely outdated communications applet.

Answer:
Works
C. Microsoft's newer mail program, it is designed to integrate with the rest of Microsoft's office software better than the original MS Exchange and MS Mail.

Answer: Outlook
3. Given the assassin, name the person assassinated, FTPE

A. Charles Guiteau

Answer: James A. Garfield
B. Sirhan Sirhan

Answer: Robert Francis Kennedy or RFK
C. Jack Ruby

Answer: Lee Harvey Oswald
4. 30-20-10, name the novel from clues.

30: This novel’s protagonist, under the name Monsieur Madeleine, becomes a successful industrialist and mayor of a northern French town.

20: One of its most famous characters is the detective Javert, and one if its most famous passages describes the protagonist’s flight through the sewers of Paris.

10: The protagonist is Jean Valjean, and the author was Victor Hugo.

Answer: Les Misérables (or The Miserable Ones)

5. Identify these composers from works for ten points each on the first clue, or for five points from a second clue.

10: Two sets of Slavonic dances, and the operas Rusalka and the The Jacobin

5: Symphony in E minor (From the New World)

Answer: Antonin Dvorak
10: The Enigma Variations and the Dream of Gerontius

5: the Pomp and Circumstances marches, which are often played at graduation ceremonies.

Answer: Sir Edward Elgar
10:The Mississippi Suite

5: The Grand Canyon Suite

Answer: Ferde Grofe (Gro-fay)

6. Identify these states by their flags.  Five points each and an extra five if you can get them all. 

A. The big dipper and North Star on a blue background

Answer: Alaska
B. An anchor and the word "Hope"

Answer: Rhode Island
C. The portrait of a president

Answer: Washington
D. The state's name and the date 1848

Answer: Wisconsin
E. The outline of a buffalo

Answer: Wyoming
7. Answer these questions about the death of Balder for ten points each.

A. Fearing that her son Balder might die, this wife of Odin went all around the world making everyone and everything promise not to harm him.

Answer: Frigg or Frigga
B. Balder was killed when his blind brother Hoder threw a twig of what plant at him?

Answer: Mistletoe
C. What God of strife and father of Fenris and Hel tricked Hoder into throwing the mistletoe at Balder?

Answer: Loki
8. Given a Shakespearean set of characters, give the play FTP.

A. Orlando, Rosalind, Celia

Answer: As You Like It
B. Calpurnia, Cassius, Brutus

Answer: Julius Caesar
C. Portia, Antonio, Shylock




Answer: The Merchant of Venice
9. Despite the fact that mammals are usually associated with live birth, there are two mammals that lay eggs instead.  FTP each answer the following questions about these unusual members of the Class Mammalia.

A. What is the name given to this small order of mammals?

Answer: Monotremes or Monotremata
B. One member of this group has an acute electrical-sensing organ, which helps it to detect organisms underwater during feeding.  What is the name of this animal?

Answer: Platypus
C. The other member of this group has spines reminiscent of a porcupine, but it is not closely related to rodents.  What is the name of this other egg-laying mammal?

Answer: Echidna or Spiny Anteater

10. Identify these firsts in space exploration for the stated number of points.

A. First for 5, he was the first to orbit the earth in Vostok 1 in 1961.

  Answer: Yuri Gagarin
B. For 5, blasting off in Columbia in 1983, she was the first US woman in space.

  Answer: Sally Ride
C For 10, he performed the first spacewalk from Voskhod 6.

  Answer: Alexei Leonov
D. Finally for 10, taking off in Vostok 6 in 1963, she was the first woman in space.

  Answer: Valentina Tershkova
11. Name these video game characters from the descriptions, for ascending point values.  

A. For five, Mario's brother in the Nintendo classic.

Answer: Luigi
B. For ten, Sonic the Hedgehog’s  sidekick.  

Answer: Tails or Miles Power
C. For five points each, the three Pokémon that can be acquired from Professor Oak at the start of a game in the Red or Blue version of Pokemon.

Answer: Charmander, Bulbasaur, or Squirtle
12. FTPE, find all real solutions to the following equalities. You will have 10 seconds per part.

A. x squared minus 8 x minus 48 equals 0

Answer: 12 and -4
B. x cubed minus x squared plus 2x minus 2 equals 0

Answer: 1
C. quantity x squared plus 4x minus 21 divided by quantity x minus 3 equals 0

Answer: -7
13. Given the image, identify the man who made a living painting a bunch of them for ten points each.

A. Comic panels.

Answer: Roy Liechtenstein
B. Targets and flags.

Answer: Jasper Johns
C. Soup cans.

Answer: Andy Warhol
14. Identify the books with the following chapter titles FTPE:

A. The Custom-House, The Minister in a Maze, Hester and Pearl

  Answer: The Scarlet Letter
B. The Ramadan, The Albatross, The Pequod Meets the Bachelor

  Answer: Moby Dick
C. The Question of the Seal, Foo-Foo the First, Tom's First Royal Dinner

  Answer: The Prince and the Pauper
15. Answer these questions about the Social Security system, FTPE:

A. Starting in the year 2000, the normal eligibility age for Social Security benefits will begin to rise.  What has been the normal eligibility age since the start of the system?

Answer: 65
B. The normal eligibility age will stabilize at what level in 2022?

Answer: 67 

C. What is the current early retirement eligibility age?

Answer: 62
16. 30-20-10 Name the monarch

30: The Fronde uprising in the earliest years of his reign marked him profoundly. He resolved the "problem" of aristocracy by making his life and court the center of all preoccupations.

20: He was eventually succeeded in 1715 by his great grandson because he outlived both his eldest son and two eldest grandsons.

10: He is remembered for taking France to its highest glory, and having said "L'Etat, c'est moi.”  His reign was the longest in modern European history.

Answer:  Louis XIV
17. Identify these discoverers of important characteristics of the atom, for 10 points each.

A. This British physicist carried out a series of experiments using cathode rays which proved the existence of the electron, in 1897.

  Answer:  Sir Joseph John Thomson
B. His gold-foil experiment led to the conclusion that atoms were made up of tiny, dense, positively charged nuclei and surrounding electrons.

  Answer:  Ernest Rutherford
C. His planetary model of the atom, which assigned each electron to a circular orbit of a specific radius, was proposed in 1913.  It depends on the assumption that angular momentum is quantized.

  Answer:  Niels Bohr
18. Name the city on a 30-20-10 basis.

30: Although it had a long string of Socialist mayors in the first half of the century, it is now noted for establishing the nation's first successful school voucher program.

20: On October 14, 1912 Bull Moose candidate Theodore Roosevelt was shot in this Midwestern city.  He was saved by a folded speech and his metal spectacle case, and went on to finish his speech.

10: It is the home of the NBA's Bradley Center and Marquette University.

Answer: Milwaukee
19. Given the English word, provide the Spanish translation FTPE.

A. Always

Answer: Siempre
B. Therefore

Answer: Por eso
C. However

Answer: Sin embargo
20. Answer the following about events recently in the news, FTSNOP

A. For 5 points Violence recently erupted in this province of Indonesia after a UN-conducted vote revealed strong popular support for independence.

Answer: East Timor
B. For 10 points, International peacekeepers were invited into East Timor by this former president of Indonesia, sparking a nationalist backlash of violence.

Answer: B.J. Habibie
C. For 15 points, Much of the violence was centered in this city, the provincial capital of East Timor.

Answer: Dili
